Whitman College

Econ 407

Exam 2

November 20, 2003

Write all answers in your blue book.  Show all of your work.  The exam ends at 12:10.

1. (a)  (3pts)   Fill in the following bank balance sheet so that this bank is illiquid and solvent.  Assume that the required reserve ratio is 10% on checking deposits and 0% on savings deposits.  

	Assets
	Liabilities

	Required Reserves______________
	Checking Deposits $500 million

	Excess Reserves _______________
	Savings Deposits  $350 million

	Five-year loans _______________
	

	Ten-year loans  _______________


	Bank Capital  _______________


Deposit insurance reforms legislated in 1989 require that every bank hold bank capital equal to at least 8% of the bank’s assets.  

(b)  (2pts)  Is the bank you described in part (a) meeting this capital requirement?

(c)  (5pts)  The 1989 reforms also require that a bank which engages in particularly  risky activities hold bank capital above and beyond the 8% requirement.  What is the government’s reasoning for requiring riskier banks to hold more bank capital?

2.  (20pts)  Describe the role that the discount rate currently plays in monetary policy.  In your explanation, refer to a graph of the supply and demand for overnight loans of reserves between banks, in the federal funds market.

3.   (15pts)  Suppose the year is 1960.  A friend who is a Keynesian tells you that he believes monetary policy cannot affect real aggregate output.  He bases this conclusion on the following evidence:  during the Great Depression, the Federal Reserve raised the monetary base and the Fed lowered nominal interest rates to almost zero, yet despite this loose monetary policy, real aggregate output shrank.  Suppose that you are a monetarist who has read Friedman and Schwartz’s A Monetary History of the United States, 1867-1960.  Write a letter to your friend in which you refute his conclusions and convince him that monetary policy can affect real aggregate output.  

4.  Consider monetarist reasoning.

(a) (5pts)  Do monetarists believe in the classical dichotomy?  Explain, with reference to a definition of the classical dichotomy.

(b)  (15pts)  Monetarists believe that monetary policy can affect real aggregate output in the short term.  Do monetarists believe that monetary policy can affect real aggregate output in the long term?  Explain, with reference to an Aggregate Supply-Aggregate Demand diagram.

(c)  (15pts)  Do monetarists believe that the Federal Reserve should use the Taylor Rule?  Why or why not?  In your explanation, refer to the specific equation that expresses the Taylor Rule.

(d)  (10pts)  What do monetarists believe about the shape of the Long Run Phillips Curve?  Explain.

5.  (10pts)  In the United States, real aggregate output grew in the third quarter at a blistering annualized rate of 7.2%.  This very fast growth in output, coupled with the fact that at 1% the federal funds rate is extremely low, could be evidence that the Fed is currently conducting a procyclical monetary policy.  What evidence can the Fed point to in order to claim it’s really conducting countercyclical policy?  

